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General Instructions:

1. This Question Paper has 3 Sections A, B and C.

2. Section A has 10 MCQs carrying 1 mark each

3. Section B has 3 questions carrying 02 marks each.
4. Section C has 3 questions carrying 03 marks each.
5. All Questions are compulsory.

SECTION A
1. The value of lil})l[x] 1
X

(a) -1 (b)0 (©1 (d) none of these

2. lim x::ll is equal to 1
x-1 X
(a) 1 (b) m/n (¢) -m/n (d) m?*/n?

3. lim”zf# , (n is a natural number) is equal to 1
X—>00
@ 0 )1 (c)1/2 (d) none of these

4. . (1 ifx+#0, . 1
The function f(x) = {2 ifx =0 is not continuous at
(a) x=0 b)x=1 (c)x=2 (d) none of these

5. If f(x) = x2 + 5x + 2, then °(3) is 1
(a) 12 (b) 10 on (d) none of these

6. The derivative of log(e*") is 1
(a) e~ (b) 2x (c)2 (d) none of these

7. —x4 ; 1
If f(x) L then (1) is
(a) 5/4 (b) 4/5 (c)1 (d) none of these

8. Ify=+x+ \/i} then derivative of y w.r.t x at x=1 is 1
(a1 (b) 2 ©o0 (d) none of these

9. Assertion: The derivative of x* is 3x. 1

Reason: If f(x) is x" then f* (x) = nx™.



10.

11.

12.

13.

14.

15.

16.

(a) Both assertion (A) and reason (R) are true and reason(R) is the correct explanation
of assertion (A).

(b) Both assertion (A) and reason (R) are true but reason(R) is not the correct
explanation of assertion (A).

(c) Assertion (A) is true but reason (R) is false.

(d) Assertion (A) is false but reason (R) is true.

Assertion: f(x) =1x11is continuous at x =0.
Reason: The left hand limit and right hand limit of f(x) at x =0 are equal

(a) Both assertion (A) and reason (R) are true and reason(R) is the correct explanation
of assertion (A).

(b) Both assertion (A) and reason (R) are true but reason(R) is not the correct
explanation of assertion (A).

(¢) Assertion (A) is true but reason (R) is false.

(d) Assertion (A) is false but reason (R) is true.

SECTION B
kx?, x>1

is continuous at x = 1.
4, x<1

For what value of k is the function f(x) = {

Find the derivatives of function f(x) = (2x+3)VX W.r.t x.
If f(x) = 2x? + 3x — 5. Prove that £°(0) + 3f(-1) =0

SECTION C
Evaluate the following limit, if it exists

lir? V8 — 2x
X—

4_ 3_13
Ly lim= k find the value of k.
X

x—1 x1-1 -k x2—k2°

Find the derivative of f(x) = 1/x2 by first principle.
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